
JT Base Camp Bed Rack - TACTIK Tonneau Covers
         Installation Instructions: 12074-1300 Lock & Roll (Half Cab / Full Cab)

12074-1000 Low Profile Hard Tri-Fold (Full Cab only)

TO REDUCE RISK OF SERIOUS INJURY OR PROPERTY DAMAGE: 
READ ALL SAFETY MESSAGES AND UNDERSTAND ALL INSTRUCTIONS AND PROCEDURE 
NOTICES BEFORE ATTEMPTING TO INSTALL OR USE THIS PRODUCT.

DO NOT EXCEED RATED WEIGHT CAPACITY OF TONNEAU COVER. DO NOT EXCEED RATED 
CAPACITY OF VEHICLE. REFER TO VEHICLE'S GROSS WEIGHT RATING. 

Tactik 12073-1000 Low Profile Hard Tri-Fold Tactik 12073-1300 lock & Roll 

A FEW WORDS ABOUT PRODUCT SAFETY:
Your Lost Canyon Base Camp Bed Rack is intended to enhance the utility and enjoyment of your off-road capable 
Gladiator. Follow all safety information and installation recommendations. Throughout these instructions is important 
safety information that is generally preceded by one of three signal words indicating the relative risk of injury, property 
damage or adverse consequence.  

The signal words mean: 
A HAZARDOUS SITUATION WHICH, IF NOT AVOIDED, COULD RESULT IN DEATH OR 
SERIOUS INJURY. YOU CAN BE KILLED OR SERIOUSLY HURT IF YOU DON'T FOLLOW 
INSTRUCTIONS.

A HAZARDOUS SITUATION WHICH, IF NOT AVOIDED, COULD RESULT IN A MINOR OR 
MODERATE INJURY. YOU CAN BE MODERATELY HURT AND ALSO MAY SUFFER PROPERTY 
DAMAGE IF YOU DON'T FOLLOW INSTRUCTIONS.

CAREFUL ATTENTION IS REQUIRED TO THIS INSTRUCTION OR OPERATION BUT DOES 
GENERALLY NOT RELATE TO PERSONAL INJURY. DAMAGE TO YOUR LOST CANYON 
PRODUCT OR OTHER PROPERTY MAY RESULT IF YOU DON'T FOLLOW INSTRUCTIONS.

NOTICE
BEFORE YOU BEGIN USAGE:
Congratulations on your purchase of the Lost Canyon Base Camp Bed Rack and The Tactik Tonneau Cover. When 
unpacking, check to make sure all parts are included and not damaged due to shipping. If any part is missing or 
broken, please call Customer Service at 800-745-6037 as soon as possible. Thank you again for your purchase.

READ ALL SAFETY MESSAGES AND ALWAYS WEAR SAFETY GLASSES WHEN WORKING 
WITH TOOLS. 



Tonneau Cover Installation - Vehicles Equiped With Bed Mounted Trail Rail System 

NOTICE INSTALLATION OF TONNEAU COVER AFTER INSTALLTION OF LOST CANYON BASE CAMP 
RACK WILL REQUIRE THE ASSISTANCE OF A SECOND PERSON.

Remove the (4) aluminum mounting brackets attached to each Low Profile Hard Tri-Fold side rails. Do not discard 
brackets. They are required when tonneau cover is installed to vehicle without bed rack (Fig 1). Install 
new Low Profile Hard Tri-Fold Mounting Brackets as shown (Fig 2 / Fig 3).

Mounting of TACTIK Tonneau covers will require the use of special mounting brackets supplied with the each Lost 
Canyon Base Camp Rack. Full Cab Base Camp Rack (P/N: 14255-2501) comes with both brackets required to mount 
either the Low Profile Hard Tri-Fold Tonneau Cover or the Lock & Roll Soft Tonneau Cover. Half Cab Base Camp 
Rack (P/N: 14255-2500) comes with the Lock & Roll Soft Tonneau Cover brackets only. Hard Tri-Fold cannot be 
installed on the Lost Canyon Base Camp Half Cab Rack. 

Full Cab Rack P/N: 14255-2501

A - (4) Tactik Low Profile Hard Tri-Fold Mounting Bracket 

B - (6) Tactik Lock & Roll Mounting Bracket

Half Cab Rack P/N: 14255-2500 

B - (6) Tactik Lock & Roll Mounting Bracket

A. B.

Replace the front Base Camp nut plate with Tactik Dual hole aluminum nut plate (Fig 4). Next slide (2) two Base 
Camp nut plates into position per rack instructions. Add the second Tactik dual hole aluminum nut plate in general 
location of yellow arrow towards cab. Tactik nut plate positions noted by yellow circles (Fig 5). Insert the final Base 
Camp nut plate per rack instructions. Place Low Profile Hard Tri-Fold side rail onto Base Camp Rack mounting 
plate and secure using tonneau cover harware (Fig 6). Repeat for other side. If rack has already been mounted 
remove the (8) M6 Base Camp Rack mounting bolts on each side of rack. With the assistance of a second person 
lift the rack to allow Base Camp Rack mounting nut plates to be removed. Install correct nut plates as described 
above. Lower rack back into place and secure rack to vehicle.  Proceed with Tactik Low Profile Hard Tri-Fold 
Tonneau instructions. 

FIG 2

TACTIK 12073-1000 Low Profile Hard Tri-Fold Installation (Full Cab Only) 

FIG 1 FIG 2 FIG 3

FIG FIG 55FIG FIG 4 FIG FIG 6

COMPONENTS MAY HAVE SHARP EDGES, EXTREME CARE NEEDS TO BE TAKEN TO AVOID 
INJURY OR DAMAGE TO BED COMPONETS AND PAINT DURING USE AND INSTALLATION OF 
THIS PRODUCT. 



Secure (3) three new Lost Canyon brackets to each Tactik side rails as described in tonneau cover instructions 
(Fig 7). Place rails onto rack mounting plate. Place the (3) three mounting brackets in position noted with yellow 
circles (Fig 8). Secure the Tactik Lock & Roll Soft Tonneau cover to rack mounting plate and trail rail system with 
the Lost Canyon Base Camp nut plates and bolts supplied with the rack. DO NOT Tighten fully.  Complete rack 
installation per Lost Canyon Base Camp Rack instructions. With rack installed Proceed with Tactik Lock & Roll Soft 
Tonneau instructions.  

TACTIK 12073-1300 Lock & Roll Soft Tonneau Installation (Full Cab & Half Cab) 

Tactik Lock & Roll Tonneau cover will use new mounting brackets supplied with the Lost Canyon Base Camp Racks. 
New brackets allow proper side to side spacing of the Lock & Roll Soft Tonneau cover side rails when mounted to 
the Lost Canyon rack. Do not discard original Tactik Lock & Load Soft Tonneau cover brackets. They are required 
when tonneau cover is installed to vehicle without bed rack. 

If Lost Canyon Base Camp Rack has been installed remove the (3) three M6 mounting bolts shown (yellow circle) 
securing the rack to the trail rail system. Do Not discard (Fig 9 ). Secure the Tactik Lock & Roll Soft Tonneau 
cover side rails to rack mounting plate and trail rail system with new Lost Canyon Lock & Roll mounting brackets 
and M6 bolts previously removed (Fig 10). Repeat for other side. Proceed with Tactik Lock & Roll Soft Tonneau 
instructions.  

TIGHTEN  ALL   RACK  MOUNTING  HARDWARE  TO  30 FT/LBS TORQUE  PER  RACK  
INSTRUCTIONS. FAILURE TO PROPERLY SECURE RACK TO VEHCILE COULD RESULT IN 
BODILY INJURY AND OR PROPERTY DAMAGE.

FIG FIG 7 FIG FIG 8

FIG 9 FIG10

COMPONENTS MAY HAVE SHARP EDGES, EXTREME CARE NEEDS TO BE TAKEN TO AVOID 
INJURY OR DAMAGE TO BED COMPONETS AND PAINT DURING USE AND INSTALLATION OF 
THIS PRODUCT. 



Tonneau Cover Installation - Standard Bed (With and Without Spray In Bed Liner) 

A. B.

Remove the (4) aluminum mounting brackets attached to each Low Profile Hard Tri-Fold side rails. Do not discard 
brackets. They are required when tonneau cover is installed to vehicle without bed rack (Fig 11). Install new Low 
Profile Hard Tri-Fold Mounting Brackets as shown and place side rail onto Lost Canyon Base Camp Mounting 
Plate (Fig 12 / Fig 13).

Place Low Profile Hard Tri-Fold side rails onto Lost Canyon Base Camp mounting 
plate (Fig 14). Secure side rail to Base Camp Rack mounting plate (yellow arrows). 
Rear mounting, at tailgate, will share the Base Camp single M6 bolt and spacer 
block. Only one M6 bolt is required (Fig 15 / Fig 16). Front mounting point, 
towards cab, will use extra mounting holes located on Base Camp Mounting 
Plate. Use the Tactik M6 dual hole nut plate and bolt hardware to secure. Repeat 
for other side. Proceed with Tactik Low Profile Hard Tri-Fold Tonneau instructions 
from this point. 

Full Cab Rack P/N: 14255-2501

A - (4) Tactik Low Profile Hard Tri-Fold Mounting Bracket

B - (6) Tactik Lock & Roll Mounting Bracket

Half Cab Rack P/N: 14255-2500 

B - (6) Tactik Lock & Roll Mounting Bracket

TACTIK 12073-1000 Low Profile Hard Tri-Fold Installation (Full Cab Only) 

Mounting of TACTIK Tonneau covers will require the use of special mounting brackets supplied with the each Lost 
Canyon Base Camp Rack. Full Cab Base Camp Rack (P/N: 14255-2501) comes with both brackets required to mount 
either the Low Profile Hard Tri-Fold Tonneau Cover or the Lock & Roll Soft Tonneau Cover. Half Cab Base Camp 
Rack (P/N: 14255-2500) comes with the Lock & Roll Soft Tonneau Cover brackets only. Hard Tri-Fold cannot be 
installed on the Lost Canyon Base Camp Half Cab Rack. 

FIG FIG11 FIG FIG12 FIG FIG13

FIG FIG14 FIG FIG15

FIG FIG16



TACTIK 12073-1300 Lock & Roll Soft Tonneau Installation (Full Cab & Half Cab) 
Tactik Lock & Roll Soft Tonneau cover will use new mounting brackets supplied with the Lost Canyon Base Camp 
Racks. New brackets allow proper side to side spacing of the Lock & Roll Soft Tonneau cover side rails when 
mounted to the Lost Canyon rack. Do not discard original Tactik Lock & Load Soft Tonneau cover brackets. They 
are required when tonneau cover is installed to vehicle without bed rack. 

Secure (3) three new brackets to each Tactik side rail as described in tonneau 
cover instructions (Fig 17). Place rails onto rack mounting plate. Position the (3) 
three mounting brackets in position noted with yellow arrows (Fig 18). Secure 
the Tactik Lock & Roll Soft Tonneau cover to rack mounting plate with the Lost 
Canyon Base Camp M6 bolts and spacer block supplied with the rack (Fig 19). 
Complete rack installation per Lost Canyon Base Camp Rack instructions. With 
Rack  installed  proceed with      Tactik Lock & Roll Soft Tonneau instructions from 
this point. 

FIG FIG17 FIG FIG18

FIG19

TIGHTEN  ALL   RACK  MOUNTING  HARDWARE  TO  30 FT/LBS TORQUE  PER  RACK  
INSTRUCTIONS. FAILURE TO PROPERLY SECURE RACK TO VEHCILE COULD RESULT IN 
BODILY INJURY AND OR PROPERTY DAMAGE.

COMPONENTS MAY HAVE SHARP EDGES, EXTREME CARE NEEDS TO BE TAKEN TO AVOID 
INJURY OR DAMAGE TO BED COMPONETS AND PAINT DURING USE AND INSTALLATION OF 
THIS PRODUCT. 


	Blank Page
	Blank Page
	Blank Page



